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P 100kN/mM%{BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
Thilst 1.00 | 000 ~ 751 95.98 | #hst | 0oo ~ 761 1.97 10.67 Thilst 1.00 | .00 ~ 1093 95.98 | #hst | 5,00 ~ 1093| 1.97 10.57
2 100kN/m%E A5 | 1.00 | 000 ~ 0.51 107.51 |3mZ&#BRB| — ~ — — — | 100kN/m%z#%25 | 1.00 | 1057 ~ 11.96| 107.51 |3mEEBZ5 - ~ — — —
Thilst 1001051 ~ 829 100.00 | Fnbst | 000 ~ 829|223 11.94 Thilst 1.00 ] 500 ~ 1057 100.00 | FnLs | 500 ~ 11.96| 2.23 11.94
3 100kN/ Mm% 25 — - ~ — — |3mZE#BZB| 0.00 ~ 0.04)| 3.04 16.27 | 100kN/m%#BZ % — - ~ — — |3mEBZB| 1000 ~ 11.83| 3.04 16.27
Thilst 1.00 | 000 ~ 507 6313 | Enlist | 004 ~ 507 3.00 16.05 FhLst 1.00 | .00 ~ 1183 6313 | #nlist | 6.00 ~ 1000 3.00 16.05
4 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mMZE#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 711 90.32 | #nst | 000 ~ 7.11| 264 14.15 ThList 1.00 | 6.00 ~ 1204 90.32 | =nhS | 6.00 ~ 1204 2.64 14.15
5 100kN/m%#8z5 | 1.00 | 000 ~ 008 101.22 |3mZz#Bz3| — ~ — — — | 100kN/m%#BZB | .00 | 1329 ~ 1357 101.22 |3m&E#Z5 - ~ — — —
s 1.00 | 0.08 ~ 7.87 100.00 | =nLsy | 000 ~ 787|268 13.82 ThList 1.00 | 6.00 ~ 1329 100.00 | =nLSY | 6.00 ~ 1357 2.68 13.82
P 100kN/m%#8z%| 1.00 | 000 ~ 1.07| 11603 |3mZz#Bz3| — ~ — — — | 100kN/mM%&#z25 | 1.00 | 1147 ~ 1489 116.03 |3mEBZ5 - ~ — — —
zhs 1.00 | 107 ~ 885| 100.00 | Ths 000 ~ 885|242 12.93 zhs 1.00 | 6,00 ~ 1147 100.00 | ZFnLS | 6,00 ~ 14.89| 2.42 12.93
7 100kN/m%E#25| 1.00| 000 ~ 008\ 101.23 |3mZz#BzZB| — ~ — — — | 100kN/M%Z#BZ % | 1.00 | 14.30 ~ 14.61 101.23 |3mZiBZ5 - ~ — — —
FhLst 1.00 | 008 ~ 787 100.00| FnhLs | 000 ~ 7.87| 2.656 14.17 zhLst 1.00 | 6.00 ~ 1430 100.00 | NSt | 6,00 ~ 14.61| 2.65 14.17
P 100kN/m%E#25 | 1.00| 000 ~ 087 11302 |3mZzBzZB| — ~ — — — | 100kN/m%x#z25 | 1.00 | 11.47 ~ 1417 11302 |3m%EEBZ5 - ~ — — —
zhs 1.00 087 ~ 865 100.00 | Ths 000 ~ 865|242 12.93 zhst 1.00 | 6,00 ~ 1147 100.00 | ZFnLSt | 6,00 ~ 14.17| 2.42 12.93
9 100kN/mM%{8Z. 5 — - ~ — —|3m%i#BZ 3| 000 ~ 0.01]| 3.01 16.10 | 100kN/m#%#B 2% — - ~ — — | 3m%i#Bz 3| 1000 ~ 1417 3.01 16.10
s 1.00 | 0.00 ~ 584 73.07 | Fhs | 001 ~ 584 3.00 16.05 ThList 1.00 | 6.00 ~ 1417 73.07 | ThSY | 6.00 ~ 1000| 3.00 16.05
10 100kN/mM%#BZ. 5 — - ~ — —|3mZi#BZ 3| 000 ~ 057 390 20.86 | 100kN/mi#%#8 2% — - ~ — — |3mZERBZB| 5.00 ~ 10.73| 3.90 20.86
s 1.00 | 0.00 ~ 1.97 2301 | Enhs | 057 ~ 1.97| 3.00 16.05 s 1.00 | 6.00 ~ 1073 23.01 | ThSY | 6.00 ~ 5.00 | 3.00 16.056
11 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
FhLst 1.00 | 0.00 ~ 579 7242 | TS | 000 ~ 579| 2.22 11.88 FhLst 1.00 | 6.00 ~ 9.64 7242 | EnS | 6.00 ~ 964 222 11.88
19 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3mE#BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 6.13 76.91 | ThSY | 000 ~ 613 2.09 11.20 FhLst 1.00 | 6.00 ~ 888 76.91 | TnLS | 6.00 ~ 888 2.09 11.20
13 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/M%Z#B% % — - ~ — — |3m#E{BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 5.68 71.03 | ThSY | 000 ~ 568 2.00 10.72 ThLst 1.00 | 6.00 ~ 7.24 71.03 | =nSt | 6.00 ~ 724 2.00 10.72
14 100kN/mM%{BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 392 49.19 | =4t | 000 ~ 592|241 12.89 ThList 1.00 | 5.00 ~ 7.63 49.19 | =hst | 6.00 ~ 7.63| 2.41 12.89
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ st ~
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